15 10

(  2352)
L
[ 1
[ 1 —
20 10 00
20 45
20 13 15
20 11
I
102
104




11

10




)




)




pras e

I
[

H

®

-
DEHL}
L |

i
0]

S
=
[Pl L2 = &, 2 2. i
LDy sz mames
NI e E &
st =
HII |

D6 i
\




(OPS2)
CRT

(OPS1)

CRT




(15.6.20)




BO00

/|
YN ‘
DIIXK

AAANAANANAANAANA

"/

I

=
[~




)

)

(CPU






15 20 ()
9:30 | 9:40 | 9:50 | 10:00 | 10:10
No.1
No.2
No.3
No.4 D
+
( 0.8
( )
60
0.4 - 100
(FeEHEE D)
El EEREIRICL 2 1 ERAD B BE
o (f#: ABIE=S2Y TR )
i3 #6049 L4 /8% < 24850 < 3658 x0.8 1,000,000
1 0.4
(] *
| : ! ' I
0.01 0.1 y {0 L00EYS=A" I
N A ) A p
irs 0.0% 0.8 6.9 50
i34 fE o XIS EE BoXEREH R e | M EHETEEE
51 e (1[ED #E (1E) CT(1ED ||DERIGEEE
5] (B TIFEHEE




